EARAROBEEIERT — 2 N— IBISH —F

2017564180 (H) 3EIBR#H6H

BLY v >73m *B7 U5l B

EZS

] ‘[?éiﬂ%ﬁaﬁ] — | & (&) 1400M R

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 B o . ZEBREA 126. - . . IROER| (EX)
1]815] 7WNTLAN=F #8280 10 M AN R B 366) ) TLTS KAT
R:d—IWRT7Ua— B:T7AERTNRT Il F*
N— RTILEA L 3 SMS-_O?A—D 1(72?:5) 12-10 | 36.8| 85.1 | 1 494 %&zf{?ﬁ (&R)
RTUNATA— D= BiA—NEA LA b 2 | Fmaes
— 4 - FREHB : - FEEIER (FEXR)
9=43227 1% # o | 7rm gy | e |Telme| 0| m \oEEE
Rid—WKT7Ua— BivyFHFE-ZX J—HrTr—L
=5 . 4 3 | BAKHE— 1:26.3 6-5 37.6| 8.2 | 9 472 | EEHMFE (ER)
FHHT 4 XL X 56.0 & 170 ) | ) ks
R:WN—5—Yy T B:T7HYHTT1v b izt e]
= AR 126. = . . BB (E®)
AR IL BT 3 EEEd 1(/726&)3 6-5 37.7| 8.2 | 2 go) TJE%EEJ
L:7A7% B:NXO-U>T EEPNET e
. 4 3 | JISfE= 1:26.5 14-14 | 37.0| 80.5 | 13 | 474 |E(FBEA (EX)
61814l * v -1 22— 56.0 (1 1/4) o | W0 G1L=3>y
A :Bodemeister B:IFT v F EBRT7—L
PRy U N . FRIOABR :26. = . . IR = (B®)
715l 9| &>y 7EY—FR o3| RS 1(72?:;5 3| 802 T tz;‘ e =
RTANNTTFHF— BTS2 —) BEZ %Y K
= 4 3 | HAWLELE 1:26.9 3-3 38.5| 76.3 | 4 492 | MEER (RR)
8111 az/ b 5%.0 (2 1/2) (-12) ?75) HAEL—ZK—2
X ThHANAN B:OM9% HET7—L
EHMEE :27. - . . SEEE (ER)
ol 70| 7Zx2=7 1 =1 [B) 3 2a 1727t§) 10-9 38.0| 76.0 | 12 :1_53 %Mﬁz
L7274 B:714—-<wA4N—F HEHS
1w 7 s 3 | JIIEXFHE 1:27.1 12-12 | 37.8| 75.0 | 6 478 | RHET (RR)
EE 2| TV oF—"T7— 54.0 (1/2) (=) | FAE
RIPINATX—H— B:OYR>T)y TS
= t 3 | RERS 1:27.7 2-2 39.4]69.9 | 10 | 526 |BEERERE— (RX)
111518 DAY &k VR * 5?3.0 (3 1/2) (44) |H- H Y27 - ENAEK
xR AN B:LYyatfu—§ H—L— - JvIN> - T7—LERS
N PN S - MTRT (BER)
Ev 77274 [B] 4 3 & (13218/23) 1-1 40.3| 65.7 | 1 <4+582) i%?kirﬁ%
AT —hT77a> B:IXINTIL ke
— Lo . IR :28. - . . BRERFIZ (EXR)
—krrEOA4>l— 4 3 NS 1(’728t§ 11-13 39.2| 63.9 | 14 zg;t ypiateah
R:hzxkexy B:ZA EOXT-—Y = %
S FHB= 129, = . . EHRZEE (ER)
hE /X 4 3 s 1 (2:))1 6-5 40.5| 59.6 | 8 (5:)“2) #E%;&
R:ZR)—bE>X BTRE—Tx—<UT &= %
N— k i 3 | BEEST 1:29.5 14-15 | 39.8| 55.5 | 15 | 454 |REEX (RRN)
5.0 2 1/2) ) | ¥
L:hrnN=—— B:4-0JEa-— At FEER
@ 21 L
£ 50.5-38.0
NA>ZA( L | 12.3-11.0-12.2-12.5-12.8-12.3-12.9
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 10,8(1,7,9) (5,6,13)-15,12,4(2,11) (14,3)
43—+ — 10,8(1,9) (5,7,6,13)12(15,11)2,4,14,3
[ RN
B OB 15 1,350 | | 71 K 11-15 520/ | | # = 6-8 1,540 | | 3&E#E | 7-11-15 2,690M
# B 15 270M 7-15 1,070H B = 11-15 1,450 JEH 15-11-7 18,540H
1 110 7-11 260M B H 15-11 4,050
7 1704

ABICOVWTRDTEEERROODE. TR LIV,




